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Question 1 [20 M|
For the circuit shown in Figurel, 8, = f8, = 100, 1y, = 1y, = . Calculate the following

V,
3- Ay; of second stage.  4- Ay =-*
)

2- A, of first stage.
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Figure 1

Question 2 [10 M|
For the circuit shown in Figure 2, 8, = f8, = 200, 1,, = r,, = o).

>- Calculate the ac voltage

Vi

1- Draw Ac equivalent of the circuit. 2- Calculate A, = =%, and v,.

across a 10/ load connected at the output of the circuit.
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Question 3 |6 M|

For OPAMP circuit shown in Figure 3, Find an equation for V. Then, Substitute in equation with the
following values, R1 = R3 = 1k, R2 = R4 = 2k(. '

Figure 3
™
Question 4 [9 M]
IFor the circuit shown in Figure 4. Derive an expression for the voltagc~ gain. What is the value of Vo
it V1=40uV.RF1 7 RIFF2 = RF3 = RF4 = 470kQ, R1 = 4.7kQ), R2 = 33kQ, R3 = 40kQ, R4 =
30kAQ.
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Figure 4

Good Luck
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Answer the following Questions

Q.1 For the common base Configuration BJT, Derive an expression for
the following parameters:

a. Input impedance !

b. Output impedance
¢, Voltage gain. »

d. Current gain.

Q.2 For the common gate configurauon, Derive an expression for the
N . | |
following parameters: !

a. Input impedance :

b. Output impedance ' ‘ f

¢, Voltage gain

Q.3. Derive an expression for output voltage for the following circuits:
a. inverting operational amplifier. i
b. non-inverting operational amplifier.

c¢. operational amplifier as integrator and differentiator.
d. operational amplifier as adder and subtractor.

e. operational amplifier with constant gain connection with multiple
stages. |




